SHM6FE11H298ET sl
% # ] % # an % # am % # am % # am % # 2n % i 2a

H1T HMT 1T =17 1317 F1T 1T
srdk-1 2 |&EB1-1 12 |EHFI-1 8 |11HRHEr—1 16 |FHATT—1 17 |EEEE2-1 29 [IIHIE—1 6
sERlk-2 2 |EH1-2 12 |EHSF1-2 8,13 |FKHAT1—1 24,25 |FEAT1-2 17 |EEH2-2 29 |IWEMH—-2 6
sERlk-3 2 |&EH1-3 12 |#EHSF1-3 13 |E/KET3 -1 27 |[FE[2—-2 15,17 |EIE#E4—1 21 |WyEdE—1 3
sEHEE-4 2 |&H1-4 12 |[#EHF1-4 13 |EKE[3 -2 27 |RE[2—-3 15,17 |BEIE#E4—-2 21 [IWFAFET -1 6
BERIEL-6 2 |[&H2-1 11 |[#EHF1-5 13 |EKE[3 -3 27 |RE]3—-2 14,17 |FERET -1 31 [IWFAFET-2 6
B¥ERE-1 2 |[&H2-3 12 |[#EHF1-6 13 |EKE[3-5 27 |HOHET—1 21 |FEREH2-2 31 [IWAFAE3-2 4
RN ERT—1 15 |HH2-5 12 |[#EHF1-7 13 |EKE[3—-8 27 |ILZHET—1 28,29 |FEMREH3—1 31 [IWFAFAE3-3 4
SAAMNER -2 15 |HH2-6 12 |[#EHF2-1 8,9,13 [FEKHAT3—9 27 |LhZH—4 29  [MkliE4—1 10,11 |IIFHFE3 -4 4
SAAMNER -3 15 |HH3-1 11 |[#EHF2-3 9,13 |FKHEI3—-12 29 |BEHEAT—1 15 [BklE4—2 10,11 |IIFHERT -1 6
SANE -4 15 |HH3-2 11 |#EHF2-4 13 [EFET-—2 26 &4 -3 10,11 |IIFHERT =2 6
JTIRET2 —1 25 |HEH3-3 11 |#EHF3I-1 8,9 |ZFHET—3 26 HElES5—1 11 WSR2 -1 4,5
JTIRET2 —2 25 |HEH3-5 11 |#EHF3I-3 8,9 LUFHER2 -2 4,5
JTIRET2 —3 26 |&EH3-6 11 |#EHF3I-4 8,9 LIFHER3 -1 4,5
STIRET2—4 26 |HEH4A-1 10,11 [#£EHF3I-5 9 IFHE3—-2 4,5
STIRET3 —1 24,25 |HEH4-2 10,11 |#EHF4 -1 9 LIFHE3 -3 5
STIRET3 —3 24,25 |HH4-3 10,11, 12| #EHF4 -2 9 &3 -4 5
STIRET3 —4 25 | FUA-1 1 |[EHFA-4 9 A3 -5 5
STIRET3 -5 24,25 | FIWA—-2 1 EHFENAE—1  [8,13,14 | 4
STIRET3—6 24,25 | FIWFET—1 14,15 |[{EHSFENE—2 13 LIFHER4 -2 4
SOIRET3—7 24,25 | FIWFHT -2 15 |[EHSFENE—-3 13 L4 -3 4
STIRET3 —8 24,25 | FIWFBE -3 15 |AANREI-1 8 L4 -5 4
STIRET3—9 24,25 | FIWFET -4 13,14 |HAMNEIE-2 8 LA —7 4
STIRET3—10 24,25 | FIWFBE -5 14 |AAREI-3 7 LR —1 7
JOIRET3—11 24,25 | FIWFHET -7 14 |AAMREI—-4 7 LIFET2 —1 22
STIRET3—12 24,25 |)IIERT—1 30 |HBAMEFA-1 8 WSFET3 -1 22
STIRET3—13 24,25 |FEpdE1—1 16 |AANER-1 7 FEET—1 28
JTIRET3 —14 24,25 |iFEpdb2—1 16,18, 19| A AN ERI— 1 8 FEHE -2 28
STIRET4 —1 24,25 |Fgpdk2—-2 16,18, 19|R&—1 6
STIRET4 —2 24,25 |FEpdk2—-3 16,18, 19| FEIIEIR 1 9,13
JOIRETS5 —2 23 |FEpE2—-4 16,18,19| FERIIER -2 9,13
STIRET5 —3 24 |FERE3—1 16,18,19| FERIUEER -5 13
STOAKRET—2 28 |FEpdE3—-2 16,18, 19| FEWTET —1 10,12
TOAE -3 28 |FERL3—-4 16,18, 19| FEWTTET -2 12
STOAKRET—4 28 |FEpE5-2 18,19 |FEIIET-3 10,12

FERR3—1 19 |[FEUMET-5 12

FEih3 -2 19 [FEUME2-1 10,11

FEfR3 -3 19 |[FEUME2-2 10,11

FEfH3 -5 19 |FELUBANE-2 9

FER4 —1 18,19 [FEIIFET—1 23

FEp4 -2 18,19 [FEIIFE2 -1 23

FE4 -3 18,19 |FEIIFE2 -2 23

FERR5—1 18,19 [FEIIFE3—1 23

FER5 -2 18,19 |[FEILIFES —1 12

FEBEI2 —1 20 |FEWLFE6—1 10

EEE2—2 20 |FELE4-2 13,14




